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4" Chapter
Title:
Newtonian
Mechanics

Fig-1
Let us about the
assingnent-01.
Now, in Fig-1, the
string attached to the
body of mass 1.5kg is
taken through a hole at
the table and the body
of mass 2kg is hanged
as before. But this time
the mass of 1.5 kg is
kept rotating at uniform
speed. The frictional
coefficient is 0.2 as
before.

(a) Write down the
equation of Newton’s
for the 1.5kg mass
rotating at uniform
speed?

(b) What is the work
done the mass of 1.5Kg
due to rotating at
uniform speed?

(c) If the mass of 2Kg
is needed to keep still
then what should be the
speed of the mass
1.5Kg?

. Be able to
explain the
law of
newtonin
motions.
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Mark
S
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al

Comment
S

10-12

Very
Excellent

8-9

Excellent

6-7

Good

less
than 5

Progress
is needed




(d) If the speed of the
mass of 1.5kg
decreases due to
friction then draw the
qualitative graph of
velocity vs time of the
mass of 2kg.




